R)\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\New 2014\FL-16216.8-.11.dwg, FL-16216.11

T™

Nz R
WINDOWS & DOORS

250 Staunton Turnpike, Parkersburg, WV 26104

400/500 Series
Vinyl Sliding Patio Door

w/ Transom
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010 Florida Building

Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product is required to be
protected with an impact resistant covering that complies with Section 1609.1.2 of the
2010 FBC.

For 2x stud framing construction, anchoring of these units shall be the same as that
shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevation, design pressures & general notes

Horizontal cross sections

Vertical cross sections

Buck & frame anchoring

Glazing details

OB WIN|—

Bill of materials & components

~=——">71.85" MAX. OVERALL FRAME WIDTH ——=

66.73" MAX.
TRANSOM D.L.O. WIDTH

117.67" MAX. OVERALL FRAME HEIGHT

_

32.91" MAX.

=— TRANSOM
D.L.O. HEIGHT

=

77.56" MAX. PANEL HEIGHT
71.18" MAX. D.L.O. HEIGHT

—

REVISIONS

35.43" MAX.
PANEL WIDTH

29.06" MAX.
D.L.O. WIDTH

813.659.9197

)
-
©
o
o}
z
c
2
b=
o
N
i
0

P.O0. Box 230 Valrico FL. 33595

Documents Prepared By:

BUILDING CONSULTANTS, INC.

Phone No.:

o
o
[}
£
)
(=4
w
°
c
9
[
[
Q
2
o
o
Y-
°
T
o
0
o
o
°
o~
k)
oy

Certificate Of A

F2S~—cy”

Lyndon F. Schmidt, P.E. No. 43409

PATIO DOORS
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

40(();/500 SERIES
SLIDIN
PART OR ASSEMBLY:

PRODUCT:

BY

NO.) DATE

oate: 8/18/14

SCALE:  N.T.S.

DWG. BY: JK

71.85"x 117.67"

35.43" X 77.56

29.06" X 71.18"

66.73" X 32.91" |G'|, G2,G3

+40.0

-45.0

CHK. BY: LFS

DRAWING NO.:
FL—-16216.11

SHEET _1 oF 6

© 2014 R.W. BUILDING CONSULTANTS INC.



cp)

4
O
D>
(XY XY
N\

1-1/4" MIN.

EMB. (TYP) T~ 0

NOTE: Install sealant under fin when optional
fin installation is used. Anchor through frame
as shown - anchors not required through fin.

@ INTERIOR

1-1/4" MIN.
EMB. (TYP.)
INTERIOR
G
EXTERIOR
m HORIZONTAL CROSS SECTION
\2/ Shown Direct to Masonry
A
o
1-1/4" MIN,

1 oA | EMB.(TYP)

INTERIOR s

EXTERIOR

i
<«
a

EXTERIOR

/"2 \ HORIZONTAL CROSS SECTION

W Shown w/ 2X Buck

/"1 "\ HORIZONTAL CROSS SECTION (_2_/ Shown w/ 1XBuck

P.0. Box 230 Vairico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Certificate Of Authgrization No. 9813
/?’;"IZ Fescro

Florida Board of Professional Engineers

Ry

Documents Prepared By:

HORIZONTAL
CROSS SECTIONS

400/500 SERIES
SLIDING PATIO DOORS

PART OR ASSEMBLY:

PRODUCT:

BY

NOJ DATE

pae: 8/18/14

SCAE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-16216.11

SHEET 2 OF 6

RM\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\New 2014\FL-16216.8-.11.dwg, 11.2

Lyndon F. Schmidt, P.E. No. 43409

REVISIONS

@ 2014 R.W. BUiLDING CONSULTANTS INC.



TAND SANVYLIINSNOD SNIaTHINg MY L0Z2 @

60y ON °"I'd “IPILYSS °J uopuk] SNOISIATY
ArSz T AL SNOLLOZS, S3040 X8 3Iva_JoN

€186 'oN uopozuoyNY JO ©IDSURIeD i
sJeeubug |DUC|SE9j0I JO PIDOE DPLO|Y SATBAN3SSY O Ldvd

LBLE'BS9'CLY FON ououd
S6SEC ~1d OOMIDA 0EZ Xog °O'd \Svg SH00Q Ollvd 9NIans
*ON! ‘SINVLIINSNOD ONITNNS S31¥3S 00S/00%
:Ag peJtodeld sjuswinoog +10NAo¥d

JK
LFS

FL—-16216.11
SHEET _3 oF _6

oate: 8/18/14
scale:  N.T.S.

DWG. BY:

CHK. BY:
DRAWING NO.:

{dAL) 9w
NIW /-1

('dAL) 'ew3
NIW.B/ -1

INTERIOR

INTERIOR

G1/G2)G3

m VERTICAL CROSS SECTION

N
[
EXTERIOR

[
0
G1)G2)G3

JL_

G
L5 7=
fé\ VERTICAL CROSS SECTION

\y Shown w/ 1X Buck

\\3/ Shown w/ 2X Buck

EXTERIOR

{dAL) "aw3

A NIW ./ L-1
®

(Item #42) to Main Frame (ltem #1} with (5)
#10 x 2-1/2" screws (item #47) at each end

NOTES:
1. Aftach Horizontal Transom Mullion Frame

SEENOTE 1
INTERIOR

Direct to Masonry @ sill

G
71"\ VERTICAL CROSS SECTION
w Shown w/ 2X Buck at head &

EXTERIOR

€11 ‘BMPTT-8'9TZ9T-T4\rT0Z MaN\sBumelg d9My “A\60LT 4d\008T - TOLT fo1d\siapio4 1afoid\safold - vy



R:\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\New 2014\FL-16216.8-.11.dwg, 114

17" MAX. O.C.

4 (TYP.)

(TYP) ‘T_-—t
o ‘ . A “E.: 4/

4..
(TYP.)

X

2X BUCK
,_\

MASONRY

OPENING ;

—T

————§& TRANSOM
$

mi
‘T—rq MULLION

2..
(TYP.)
o
(TYP.)

18" MAX. O.C.
(TYP.)

T e T
A
S T

BUCK ANCHORING

CONCRETE ANCHOR NOTES:

MASONRY

o) =] o

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center distance requirements.

2. Concrete anchor locations at the comers may be adjusted to maintain the min. edge
distance to mortar joints. Concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

10'MAX.OC.
(TYP.)
6“ Baee amd
T (TYP) ’“l
5| | L (T B
!
2X BUCK B HEAD (TYP.) -
FRAME j JAMB (TYP.)

MASONRY
OPENING

_ SILL(TYP)

1
10" MAX. o.c..l L
(TYP.)

FRAME ANCHORING

2X Buck

mw /4

1-1/4"

4||

ELCO 1/4"

1_1/ "

4"

]

10" MAX. O.C.
(TYP.)

10" MAX. O.C.
(TYP.) —
6"
I (TYP.)"‘} ~— |
_ l. |~ [ N
7
1X BUCK B HEAD (TYP.) 7
FRAMEJ B JAMB [TYP.)
MASONRY - ]
OPENING ; - SILL (TYP.) -
| ! N T T B
TN
FRAME ANCHORING

1X Buck, Direct to Masonry

2 1 Wg
.8 $na¢
Om £ b,
ZJSEQ*\}O_
.go .
go"fﬁgc\z
I LQ c ui
EfoasN @
D> K 0E .
n ._32 ]

. 5898% | %

Sonal E

o

uggzs‘:\ﬁ

P 500 5w W

9 53 . 20O

Q.——oOD c

23..&: O g H

u_mu.n.ms o
ol <

2 § zE 2

c T

o o 9

R

3

Q

=]

(=]

&

98 | w
xR =10}
L =2
Do |.., =&
o= |> O
3x |2 o3
O =2 x>
So b <
>
o2 0l &/
NI
[ P ) o
O
= I
S ke
& <
[»% [a
>..
)
)
zZ
o
n
=
U
"4
s
<C
o
(@]
zZ
oare: 8/18/14
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—16216.11

SHEET 4 oF 6

© 2014 R.W. BUILDING CONSULTANTS ING,



R\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\New 2014\FL-16216.8-.11.dwg, 11.5

0.5"
GLASS BITE
SILICONE (TREMCO) —— 1" THICK GLASS
| —)
(m e J _— 1/8' TEMPERED
S§S~— AR SPACE
l [—] [—————j

~ ~ \ 1/8" TEMPERED

INTERCEPT SPACER

<::> GLAIZING DETAIL

GLASS BITE

0.5"
GLASS BITE

SILICONE {TREMCO)

=|

C:D{ )..

&

(::) GLAIZING DETAIL

0.5"

— 1" THICK GLASS

=C__ ]

C)

i . 1/8" ANNEALED
0.030" SAFLEX® PVB INTERLAYER
S~ 1/8" ANNEALED

AIR SPACE
1/8" TEMPERED

/

\TRISEAL 5/8" SUPER SPACER
SILICONE (TREMCO)

GLAZING DETAIL

— 3/4" THICK GLASS

/8" TEMPERED
3N~ AIR SPACE

\ 1/8" TEMPERED

INTERCEPT SPACER

6 o \8
S KRN ¢
Om .Em ‘*
4 oe W
= .~ g0
.ﬁmu.ﬂd
.@ 6_0 v 2
286 2%y
Sftwoec w
5-5@'3.9 o
2>m 0y .
2o 2N B
5 §R % RE T E
ON - Q¢ £
® o .4 o
n%gzo wn
§53%ersN\)u
s [ o]
n-—oOD c
® Aot a 5
o o T
@ § o Y g
- D x -J
C c
@ o0
Ee<: Lo
3
0
[od
o
4
n
a8 | 2
xo =
L "
no ., o
[
Sx lal e
8. |2l 8
(G
8z |9 3
L ¥R N0
ol » |%
8 (@]
[
2 %
o o
>..
m
w
Z
O
2
24
!
<T
[
o
Z
oate: 8/18/14
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-16216.11

SHEET 5 oF 6

@ 2014 R.W. BUILDING DONSULTANTS INC.



NOTE: Trim Fin/J-Channei
for optional installation as
necessary.

=

B

= 1.625" =~

i

1.58"
!

i

[=—1.91" —-—‘

0.057"
0.067"

( : ) INTERLOCK

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL
A |1XBUCK SG >= 0.55 WOOD
B | 2X BUCK SG >= 0.55 WOOD
C | 1/4" MAX. SHIM SPACE -
D | 1/4"X 2-3/4" ELCO OR TW CONCRETE SCREW STEEL
c | MASONRY -3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
#10 PPH WOOD SCREW [1-3/8" MIN. EMBEDMENT REQ'D INTO
F | woob) STEEL
| 7AELCO OR TW CONCRETE SCREW (1-1/4"MIN. EMBEDMENT STEEL
REQ'D. INTO CONCRETE)
1 | FRAME* PVC
2 | STILE/RAILF PVC
3 | WEATHERSTRIP (SCHLEGEL #HF-7522-270) -
4 | GLAIING BEAD* PVC
5 | INTERLOCK* PVC
6 | JAMB TRACK* PVC
7 | WEATHERSTRIP [SCHLEGEL #PB-8420-187) -
8 | #8 X 2" PAN HEAD QUADREX SCREW STEEL
9 | FIXED SUPPORT PANEL* PVC
10 | STILE REINFORCEMENT STEEL
11| STILE REINFORCEMENT STEEL
12 | HEAD TRACK* PVC
19 | #8 X 5/8" PAN HEAD, SQUARE, SELF-DRILLING SCREW STEEL
20 | TANDEM WHEEL [TRUTH) .
21 | TANDEM WHEEL SHIM* PVC
22 | INSECT STOP -
23 | SCREEN -
24 | SLIDING PANEL RAIL ALUM
25 | OPERATING PANEL SUPPORT* PVC
26| FIXED SASH ANCHOR BLOCK -
27 | FIXED PANEL SUPPORT* PVC
39 | HANDLE KIT STEEL
40 | MORTISE LOCK KIT/KEEPER 5.5,
42 | TRANSOM FRAME MULLION* PVC
43 | TRANSOM GLAZING BEAD* PVC
44 | TRANSOM MULLION REINFORCEMENT STEEL
46 | #7 X 1/2" FLAT HEAD SELF-DRILLING QUADREX SCREW STEEL
47 | #10 X 2-1/2" FLAT HEAD QUADREX WOOD SCREW STEEL

* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED
BY EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC EXTRUSIONS".

44 TRANSOM MULLION REINFORCEMENT

@ STILE REINFORCEMENT

0.8"

-

2]

JAMB TRACK

ﬁ—l 1.08"

L—— 1.82"

1.27"

0.05" —=

i

=)

STILE/RAIL

. 0.07"

7 | 8 - 0.87"
c::ng)‘] L S
BT & g

( : ) GLAZING BEAD

1
& L
Cﬁ] & 0.065" 2
o —
ose— |1 oo — 1
@ FIXED SUPPORT PANEL @ HEAD TRACK

@ STILE REINFORCEMENT

@ TRANSOM FRAME MULLION

-

1.82" —=

—>l 1.01"

@ OPERATING PANEL SUPPORT

0.07"

i

‘*l 0.83"

1.53"

@ FIXED PANEL SUPPORT

0.83" ‘L—*’J

@ TRANSOM GLAZING BEAD

|

—'4 0.8

0 T
0 o
] = 1%
.9 gnr\e
9m E£5.32
"_ja gmk.
SE O W, ]
= "9 z
28a 22\ .
g e j
HE8 2o\ o
a>ng‘5 .
- w N 5
Zow ot 2
5 90 f¢ E
) ON - 0 c c
o B )
hel %3253\‘”
B amﬂn-o- ™
U 3 .E =0
0.-000 c
o 2 ..cuolq, s
f Dod oy S
o § o 9 £
- o= -
c [
@ o &
ISR
a3
v}
53
o
w)
o (i
] ==
U)Q o O
oz |3 =
o< i) =
A |s &9
N o |s O
82 wni —
s < =2
LR o
ol » |3
8 (@]
'...-.
(@]
@ S
0. o
>..
m
1%2]
=z
Qo
0
=
|
o
L)
<
o
o
=z
oate: 8/18/14
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—16216.11

SHEeET 6 oF 6

R\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\New 2014\F-16216.8-.11.dwg, 11.6

© 2014 R.W. BUILDING CONSULTANTS ING.




